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FunctionOl Answers for No.10044

.1 ="NOT a Function"
Ans] — .2 ="a Function"
=1 3= "NOT a Function"
.4 ="a Function"

g =S 10N12)) (-1 141/2)), (0, 15Y1/2)), (1,4), (4, 19%1/2)), (5, 2%5N1/2)) }]
mse=1 2={(-5,127),(-1,7),(0,2),(1,7),(4,82),(5,127)}

[sz Set of all Real number}_

S R={yly>=1}
2=25 :[Df:{x|x>=0}

3=1 .1 ="a Function" ' R={yly<=0}

Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , Ans5 = ; [Df: {x|x=/=-1 }}
5=23 “LR=tyly==0;

L.6 = undefined | D={x|x>=1)}

4:[ j‘ }
R={yly>=0;

Ans6=(R,={y|-42<y<=7})
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FunctionOl Answers for No.10127

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"

.4 ="NOT a Function"

Ansl =

Ans2—['1 =4, 7N12)), (-2,3), (0, 1IN1/2) ), (2, 1351/2) ), (4, 1571/2)), (5, 4)}}
a 2={(-4,8),(-2,26),(0,6),(2,26),(4,86),(5,131)}
']:[Df:{x|x>=0}}

S R={x[x>=0}
2=2 2:[Df:{x|X>:2}
3=-6 .1 ="a Function" ' R={yly<=0}

Ans3 = 4 =undefined| ° AnS4_[2="a Function"}’ , Ans5 = 3 [Df:Set of all Real number}
6_.5=d15 ] Tl R={yly<=2}

L.6 = undefined | :[Dj,: {x|x=/=1}}

L R={yly=/=0}

Ans6=(R,;={y|-11 <=y <14})
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXKXXKXKKXKXXXKKXKXXKXKXKXKXKX KKK KKK KX KK XKKXKKX KKK KX KKX KKK KKK KKKKX
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FunctionOl Answers for No.10305

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

s [.1 = (-5, 10N1/2) ), (-4, 1IN1/2) ), (-3, 2%3N1/2) ), (0, 1571/2) ), (3, 3%*2N1/2) ), (5, 2*571/2) ) }

2={(-5,103),(-4,67),(-3,39),(0,3),(3,39),(5,103)} }
[ D={x|x>=0
_ _ .zz[Rf_{ | >=0}}
A=-7 = {x]x /
2= 2_[Df:{x|x=/=-2}
3=-1 .1 ="a Function" ' R={yly=/=0}
Ans3 = 4 = undefined| AnM_[Z:"aFunction"}’ , Ans5 = ; [Df: {x|x>=—]}}
S=-8 T Rf‘:{y|y<=0}
.6 = undefined| J {Df: Set of all Real number}
R={yly<=1}
Ans6=(R,={y|-12<y<=13})
X [Page = 0003]
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Function0l Answers for No.10491
.1 ="a Function"
2 ="NOT a Function"

Ansl = .3 ="NOT a Function"

.4 ="a Function"

Am_[.] = (-2, 13N1/2)), (-1, 141/2)), (0, 15N1/2) ), (1,4), (2, 17%1/2) ), (4, 19A(1/2))}}
B 2={(-2,7),(-1,-2),(0,-5),(1,-2),(2,7),(4,43)}
i ; {Df: Set of all Real number}_
[ =5 ] Sl R={yly<=3}
2=-2 D ={x[x>=0}
3=3 1 ="NOT a Function" 2= R={yly<=0}
Ans3 = .4 = undefined | ’ Ans4:[ .2 ="a Function" }’ , Ans3 = 3 {D}: {x|x >=2}}
S=-1 T Rf:{y|y>=0}
L.6 = undefined | ) {Df: {x|x=/=-1 }}
L LR={yly=/=0]

Ans6=(R,;={y|-11 <=y <25})
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXKXKKXKXXXKKXKXXKXKXKXKKX KKK KK KXKXKXKXKKXKKX KKK KK KKX KKK KKK KKKKX
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FunctionOl Answers for No.10782

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"

.4 ="NOT a Function"

P 2_[.1 =L (-5, 2%0M1/2) ), (-4, 3), (-1, 2%351/2) ), (0, 13%1/2) ), (4, 171/2) ), (5, 3*2A(1/2))}}
o= 2={(-5,105),(-4,69),(-1,9),(0,5),(4,69),(5,105)]

Ansl =

; [Df: Set of all Real number}_
_']:_12_ Rf:{y|y>=]}
2=-6 P D={x[x<=0}
3=2 1 ="NOT a Function" T R={x|x>=0/
Ans3 = 4=27 ’ Ans4={ .2 ="a Function" }’ , Ansd = 3 [Df: {x|x=/= —3}}
5= LRty =0
L 6=0 , [Df:{xlx>=-2}}
CLR={yly<=0}

Ans6=(R,={y|-23<y<=13})

)G BT ISHE RN IUIUCN I 9:9:9.0:9.0.0.9.0.9.9.9.9.9.0:0:0:9:0:0:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0:0.0.0.0.0.9.9.9.0.0.0.9.9.9:9.9.9.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.9.0.9.90.0.0.0.0.9.0.0.9.0.0.0.4
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FunctionOl Answers for No.11040

.1 ="NOT a Function"
.2 ="a Function"
Ansl = .3 ="a Function"
.4 ="NOT a Function"
AI’lS2_|: A={(-3,31),(-2,11),(-1,-1),(0,-5),(2,11),(3,31)} }
CL2={(-3,11N1/2)), (-2,2%3N1/2) ), (-1, 13N1/2)), (0, 14N1/2) ), (2,4),(3,17N1/2))}

i ; {Df: Set of all Real number}_
=23 - R={yly>=3}
.2 = undefined {Df: {x|x=/=-3 }}

3=-5 .1 ="NOT a Function" B R={yly=/=0}
Ans3 = 4=-7 [ Ans4—[ .2 ="a Function" }’ , Ans3 = ; {Df: {x|x>=-1}}
S=11 TR ={yly<=0}

L 6=12+2h |

D= {x|x<=0}
= R={x|x>=0]

Ans6=(R,={y|-8 <=y <73})

)G BT ISHE RNV I 9:9:9.0:9:0:0.9.0.9.9.9.9.0.0:0:0:9:0:0:9:9:9.:9.9.9.9.9.9.9.9.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:9.9.9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.90.0.0.0.0.9.0.0.9.0.0.0:4
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FunctionOl Answers for No.11048
.1 ="NOT a Function"
Ans] .2 ="a Function"
nsl = )
.3 ="NOT a Function"
.4 ="a Function"

) 2_[ d=4(-5,129),(-2,24),(-1,9),(0,4),(2,24),(5,129)) }
BT 2200-5,3),(-2,2%3%1/2) ), (-1, 13%1/2) ), (0, 14~(1/2) ), (2,4), (5, 19X1/2)) }

" ; {Df:{x|x>=l}}

]:3 ] ‘ Rj:{y|y<=0}

2=3 2:[Df:{x|x<=0}

3=-1 .1 ="a Function" ' R={x[x>=0}

Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , Ans5 = ; D={x|x=/=-1}
S5=17 B R={yly=/=0}

.6 = undefined| [Df:Set of all Real number}
L R={yly<=-1}

Ans6=(R,;={y|-26<y<=10})
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FunctionOl Answers for No.11107
.1 ="a Function"

.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

) 2_[ d=4(-3,41),(-1,1),(0,-4),(1,1),(3,41),(5,121)} }
T 2= 1(0-3,2%371/2) ), (-1, 1471/2) ), (0, 15N1/2) ), (1,4), (3, 3%251/2) ), (5, 2%571/2) ) }

; [Df:{x|x<=0}}
B .]:-8 ] ‘ Rj:{y|y<=0}
.2 = undefined 2:[Df: {x|x>=-2]
3=-4 .1 ="a Function" ' R={yly>=0}
Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , Ans5 = ; D={x|x=/=3}
5=-4 T R=ty1y==0)
.6 = undefined| [Df:Set of all Real number}
L R={yly>=-1}

Ans6=(R,={y|-7<=y<57})

)G BT ISHE RN IUOLE D 9:9:9.9:9:0.0.0.0.9.9.9.9.0.0:0:0:9:0:0:9:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.9.90.0.0.0.0.9.0.9.9.0.0.0.4
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FunctionOl Answers for No.11419
.1 ="a Function"

Ans] — .2="NOT a Function"
.3 ="NOT a Function"
.4 ="a Function"
Ans2:[ d={(-5,155),(-4,101),(-3,59),(0,5),(3,59),(5,155)} }

2={(-5,10N172)), (-4, 1IN1/2)), (-3, 2%31/2) ), (0, 15%1/2) ), (3, 3%*2N1/2) ), (5, 2*5~1/2) )}
i {Df:{x|x<=0}} ]

A=
i = ] Rf:{x|x>=0}
- .2:{Df={x|x>=2}}
.1 ="a Function" R={yly<=0}

Ans3 = o 5 Ansd = [2 ="NOT a Functionn}’ ? Ans5 = 5 |:Df: {x | x=/=1 }}

R={yly=/=0}
L. J {sz Set of all Real number}
R={yly<=3}

XN BN W Ry~
Il

Ans6=(R,;={y|-11 <=y <25})

)G BT ISHE RIS N D 9:9:9.9:9:0.0.9.0.9:9.9.9.9.0:0:0:9:0:0:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0.0.0.0.0.9.0.9.9.9.0.0.0.9.9.9.9.9.9.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.9.0.9.90.0.0.0.0.9.0.0.9.0.0.0.4
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FunctionOl Answers for No.11424
.1 ="a Function"
.2="NOT a Function"
AnS] = n b "
.3 ="a Function

.4 ="NOT a Function"
A={(-5,7N1/2)), (-2,10N1/2)), (0,2*3~1/2)), (1, 13N1/2)), (2, 141/2)), (5, 17%]/2))}}
2={(-5,71),(-2,8),(0,-4),(1,-1),(2,8),(5,71)}
J{Df: {x|x=/=3}}
R={yly=/=0}
B {Df: Set of all Real number}
.1 ="a Function" - R={yly>=-1}
7 AnM:[Z:"a Function"}’ , Ans5 = _{Df: {x|x>=2}}
CR={yly>=0}
L 6:2h i _[Dj~:{X|X>:0}}
R={yly<=0}

Ans2 :[

S ~
1

n

Ans3 =

QL
»n W W §$~q
S
m
QU

LN W
I

Ans6=(R,={y|-71<y<=10})
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FunctionOl Answers for No.11470

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"

.4 ="NOT a Function"

) 2_[ d=0(-5,128),(4,83),(-2,23),(0,3),(2,23),(5,128)} }
M 22 (-5, 10M1/2)), (-4, 11N1/2)), (-2, 13%1/2) ), (0, 1551/2) ), (2, 1751/2) ), (5, 2%5~(1/2) ) }

Ansl =

; [sz Set of all Real number}_

B .]:_9 ] ‘ Rj:{y|y>=2}
.2 = undefined 2:[Df: {x|x>=0}
3=-5 .1 ="a Function" ' R={yly<=0}
Ans3 = 4=-8 [ 7 Ansd = [2 ="a Function"}’ , Ansd = ; D={x|[x>=-3}
5=-10 T LR={yly>=0]

L 6=-h ] J [Df:{xlx:/:-é"’}}
L LR={yly=/=0}

Ans6=(R,;={y|-54<y<=10})

)G BT ISHE RN NN I 9:9:9.0:9.0.0.9.0.9.9.9.0.9:0:0:0:9:0:0:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9:9.0.0.0.0.0.0.0:0:0:9.9:9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.9.0.0.9.0.0.0.0.9.0.0.9.0.0.0:4
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FunctionOl Answers for No.11472

.1 ="NOT a Function"
.2 ="a Function"
.3 ="NOT a Function"
.4 ="a Function"
Ans2:[ A={(-4,44),(-2,8),(-1,-1),(0,-4),(1,-1),(4,44)} }
2=4(4,10N1/2)), (-2, 2%3N1/2) ), (-1, 13N1/2) ), (0, 1471/2) ), (1, 15N1/2) ), (4, 3%271/2) ) }

Ansl =

i P {Df: Set of all Real number}_

C 20 R={yly>=1}

2=0 | :{sz{x“”:‘”}
_ _n on" R, = <=0

Ans3 = .4=‘5n:z’;‘ined’ ’ Ans4:['1 ._2 :N%TF?JII:;?(:I?'?H }’ » Ansd = D;Z {{))c} ||))c}=/= 1}}
S=-5 3:|:Rf:{y|y=/=0}}
|.6 = undefined | 4_{[)/,: {x|x>=0}}

’ R={x|x>=0}

Ans6=(R,={y|-13<=y<51})

.G BT ISHE RN IIN VA D 9:9:9.0:9.0.0.9.0.9.0.9.9.9.0:0.0:9:0:0:9:9:9.9.9.9.9.9.9.9.9.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:9.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.9.9.0.0.0.0.9.0.0.9.0.0.0.4
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FunctionOl Answers for No.11523

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"

.4 ="NOT a Function"
A={(-4,7N1/2)), (-3,2*%2N1/2)), (-1, 1071/2)), (0, 11N1/2)),(1,2*3~1/2)), (3, 14A(]/2))}}
2={(-4,78),(-3,43),(-1,3),(0,-2),(1,3),(3,43)}

‘]:[Df:{x|x>=-3}}

Ans2 :[

=11 R={yly<=0}
2 = undefined ,_ [Df: Set of all Real number}
3=-1 .1 ="a Function" ' R={y|y<=-3}
Ans3 = .4 = undefined | , Ansd = [2 ="a Function"}’ , Ans3 = I;f: {x|x>=0)
2=1 SZ{ijz{x|x>=0}}
L.6 = undefined {Df: fxlx /=1 }}
| T Rty == 0y

Ans6=(R,={y|-8<=y<17})
X [Page = 0013] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKXXKXKXKXKKK XK EXKXKKK KKK KKK KK KXKKXKK KKK KX KKK KKK KKK X XKL KXKXKK KKK KXKXKK KKK KKXK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXKKXKKXKKXKKXKKXKKXKKX KKK KKK KKK KKK KKK KKK KKK KKXKKXKME /2-6800401-00014XX

FunctionOl Answers for No.11549

.1 ="NOT a Function"
.2 ="a Function"
.3 ="NOT a Function"
.4 ="a Function"
Ans2—_ A={(-5,95),(-3,31),(-1,-1),(0,-5),(1,-1),(3,31)}
CL2={(-5,3),(-3,111/2)), (-1,131/2)), (0, 141/2)), (1,15~1/2)), (3, 17N1/2)) }]
'JZ{Df:{x|x<=0}}
R={yly<=0}

Ansl =

[ 1=-11]
2= :[Df={x|x>=-1}
3=4 .1 ="a Function" R={yly>=0}
Ans3 = A4=-1] Anﬁl_[z ="NOT aFunction"}’ , Ans5 = [Df: Set of all Real number}
S=-1 L R={yly<=2)
L .6=0_ , {Df:{x|x=/=—1}}
L LR={yly=/~0}

Ans6=(R,;={y|-26<y<=10})
P00:0:0:0:0:0:0.0:0.0.0:0:0.0:0:0:0.0:0.0.0.0.0.0.0.:0.0.0.0:0.0:0:0:0:0.0.0:0.0.0.0.0.0.0.0:0.0.0:0:0.0:0.0.0.0.0.0.0.0:0:0.0:0.0:0:0.0:0:0.0.0.:0.0.0.:0.0:0.:0.0.0.0:0.0.0.0.0.0'0.0.0.0:0.0:0.0.0.0
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FunctionOl Answers for No.11925

.1 ="NOT a Function"
Ans] — .2 ="a Function

.3 ="a Function"
.4 ="NOT a Function"

e _[.1 =1 (-5, 10M1/2) ), (-3, 2%37(1/2) ), (0, 15%1/2) ), (3, 3%271/2) ), (4, 19:1/2) ), (5, 2*5A(1/2))}}
nse= 2=4(-5,73),(-3,25),(0,-2),(3,25),(4,46),(5,73)]}

1_{Df={x|x>=-]}}
o7 C LR={yly<=0}
.2 = undefined 2:{Df: {x|x<=0}
3=5 .1 ="a Function" R={x[x>=0}

Ans3 = 4=3 o AnM_[Z:"NOTaFunction”}’ , Ansd = {Df: Set of all Real number}

5=5 L R={yly>=3}

L 6=2h 4_{[)/,:{x|x=/=—]}}
L LR={yy=E=0)

Ans6=(R,;={y|-25<y<=11})
X [Page = 0015]

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.:9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0.0:9.9.0:9.0.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9:9.0:0.9.0:9:9.0:0:0.0:0:0.0:¢
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FunctionOl Answers for No.11935
.1 ="a Function"

Ans] — .2="NOT a Function"
"85 =1 3 ="NOT a Function"
.4 ="a Function"

) 2_[ d=4(-5,122),(-1,2),(0,-3),(1,2),(3,42),(5,122) }
MET 2= (-5,2%271/2) ), (-1, 2%371/2) ), (0, 1371/2) ), (1, 14%1/2) ), (3, 4), (5, 3%271/2)) }

; [Df: Set of all Real number}_

_']:_11_ Rf:{y|y>=]}
2=-11 2:{Df={x|X<:0f

3=-7 .1 ="a Function" . R={x[x>=0}
Ans3=\" 4o b > AnM_[Z:"NOTaFunction"}’ , Ansd = ; {Df: fx|x=/=2 }}
5=23 P R=ty1y==0)

| 6=—h_ , [Df:{xlx>=—1}}

UL R={yly<=0]

Ans6=(R,={y|-11 <=y <353})

)G B Te ISHE RN D 9:9:9:9:9.0.0.9.0.9.9.9.9.0:0:0:0:0:0:0:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0:0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.90.0.0.0.0.9.9.9.9.0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXX XXX KXKXKX XXX XX XXX KX KKK XXKKKKKMSE /2-6800401-00017XX
Function0Ol Answers for No.12183
.1 ="NOT a Function"
Ans] .2 ="a Function"
nsl = )
.3 ="NOT a Function"
.4 ="a Function"

) 2_[.1 ={(-5,6N1/2)), (-3,2%271/2) ), (0, 11N1/2) ), (2, 13~1/2) ), (3, 141/2) ), (5, 4)}}
e= 2=0(-5,123),(-3,43),(0,-2),(2,18),(3,43),(5,123)}

{Df:{x|x>=3}}
G LR=tyly<=0]
.2 = undefined 2= {I])ef: {x|x ://: _0]}}
Ans3 = 4= ‘jn:z’e(j)‘ined ’ , Ansd = [2 ;1"_NC?TF21113?11121‘3i0n"}’ > Ans3 = I;f:{{):c||):c >= 0}}
S5=-14 SZ[Rf:{x|x>=0}}
.6 = undefined ] B {D = Set of all Real number}
L R={yly<=-3}

Ans6=(Ry={y|-12<=y<13})
X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXXKKXXKKKKXKXKXKKK XK EXKXKKK XK KKXKX KKK KKXKK KKK KX XKK KKK KKK X KKK KXKXKK KKK KXKXKK KKK KKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKKXKKXKKXKKXXKXKKXKKX KKK XXX KKK KKK KKK KKK KKK KKXKKXKME /2-6800401-00018XX

FunctionOl Answers for No.12246

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"

.4 ="NOT a Function"

P 2_[.1 = (-5, 6M1/2)), (-3, 2%251/2) ), (0, 1IN1/2) ), (2, 1351/2) ), (3, 14%1/2) ), (5, 4)}}
o= 2=4(-5,105),(-3,41),(0,5),(2,21),(3,41),(5,105)}
i P {Df: Set of all Real number}_

R={yly<=-3}

Ansl =

=7 ]

=7 5 sz{x|x>=0}

3=-1 I ="a Function" o R={yly<=0}
Ans3 = 4 =undefined| ° AnM:[.Z:"NOTaFunction”}’ , Ans3 = 3 {Df: {x|x>=-1}}

S5=4 T LR={yly>=0]

L.6 = undefined | _{Df: [x|x=/= 2}}
i R={yly=/=0}
Ans6=(R,;={y|-14<y<=11})

X [Page = 0018] XXXXXXXXXXXXXKXKXXXXXXXKXKKXKXKKKKXKKKXXXXXXXXXXXXXXXXXXXXXXXKKKKKXKKXKKXKXKKKKKKKK KKK KKK XXX XXX XXX XXX XKKKKKKKK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXX XX XXXXXKXKXXXXX XX XXXXXXKXKXXXXKXXKXKXXXKXKXKXME /2-6800401-00019XX
FunctionOl Answers for No.12332
.1 ="a Function"
Ans] — .2="NOT a Function"
=1 3= "NOT a Function"

.4 ="a Function"

) 2_[.1:{(-4,3),(-2,m(l/z)),(o,13A(1/2)),(2,15A(1/2)),(3,4),(4,17A(1/2))}}
5e= 2=4(-4,67),(-2,19),(0,3),(2,19),(3,39),(4,67)]}
']:[Df:{x|x<=0}}
1S R={x|x>=0}
-3 _ [Df: Set of all Real number
3=-3 .1 ="a Function" . R={yly<=3}
Ans3 = 4=31 7 AnM_[Z:"aFunction"}’ , AnsS = [Df: {x|x>=3}}
5=-6 | R={yly<=0/}
L6=—h] [Df:{m:/:z}}
I R={yly=/=0}

Ans6=(R,;={y|-13<=y<68})
SN REYERE R CE D 0:0:0:0:0:0:010/0:0:0.10:0:0:0:0:0:0:0.0:0.0.0:0:0.0:0.0:0:0.0.0.0.0.0:0.0.0.0.0:0.0.0.0.0.0:0.0:0:0.0:0.0.:0.0.0.0:0.0:0.0.0:0.0.0.0.0.0.0.0:0:0'0:0.0.0.0.0.0:0.0.0:0.0.:0.0:0.0.0.0.0.0'0:0:0:0. 0.0



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX X XXX XXX XXXXXXXXME /2-6800401-00020XX
FunctionOl Answers for No.12682

.1 ="a Function"
Ans] — .2="NOT a Function"
"85 =1 3 ="NOT a Function"

.4 ="a Function"
A={(-5,127),(-4,82),(-3,47),(0,2),(3,47),(5,127)} }
2={(-5,3),(-4,10%1/2)), (-3,1I~1/2)), (0, 14~1/2)), (3, 17~1/2)), (5, 19~1/2) )}

‘IZ{Df:{x|x>=2}}

Ans2 = [

1=3 R={yly>=0}
.2 = undefined .2:{11){: {x|x =//=-0]}}
Ans3 = .jz_ -_111 o A”M:[z ;1"_NC?TF;11113?1112?i0n"}’ , Ans3 = D, = Set o{fya|lly Real nu}mber
o= 3= R=fyly<=1y }
L 6=h+11 | _{Df:{x|x<=0}}
"=\ R=tyly<=0,

Ans6=(R,={y|-9<=y<72})
X [Page = 0020] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKKXKXKXKXKKK KK EXKXKKK XK KKXKX KKK KKXKK KKK K KXKK KKK KKK X KKK KKKK KKK KXKXKKKKXKKKXX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XKXXXXXXXXXXXXXXME /2-6800401-00021XX
FunctionOl Answers for No.13022

.1 ="a Function"
Ans] — .2="NOT a Function"
.3="NOT a Function"
.4 ="a Function"
Ans2=['1 ={(-5,7N1/2) ), (-4,2*%2N1/2) ), (0, 2*31/2) ), (1,13~1/2)),(4,4),(5, ]7’\(1/2))}}
2={(-5,70),(-4,43),(0,-5),(1,-2),(4,43),(5,70)}

{sz [x|x=/= 3}}
1=14 Re={yly=/=0}
.2 = undefined p, {Df: {x|x>=—1}}
3=6 .1 ="NOT a Function" R={yly>=0}
, , Ans4 = )
.2 ="a Function" 3 {sz {x|x<= 0}}
O R={yly<=0}
- {sz Set of all Real number}
' R={yl|ly<=1}

i

Ans3 = }, , AnsS=

ENETIEN
Il
> o

Ans6=(R,={y|-53<y<=11})

)G BT ISHE RNV R I 9:9:9.0.9.0.0.9.0.9.0.9.9.0.0:0:0:9:0:0:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.9.0.0.0.0.0:0:0:9:9.9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.9.0.0.9.0.0.0.0.9.0.0.9.0.0.04



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXKKXKKXKKX KKK KKK KKK KKK KKK KKK KKK KKXKKXKME /2-6800401-00022XX

FunctionOl Answers for No.13650

.1 ="NOT a Function"
Ans] — .2 ="a Function"
=1 3= "NOT a Function"
.4 ="a Function"

4 2_[ A={(-4,78),(-2,18),(-1,3),(0,-2),(1,3),(4,78)} }
we= 2={(-4,2%271/2)), (-2, 10N1/2)), (-1, 11~1/2) ), (0,2*3~1/2)), (1, 13N1/2)),(4,4)}
i D, = Set of all Real numbe

1:{ R={yly<=-1} }

d=11 |
-9 :{Df:{x|x>=]}
3=9 .1 ="NOT a Function" T R={yy>=0}
Ans3 = 4 = undefined| Ans4—[ .2 ="a Function" }’ , Ansd = ; {Df: {x|x=/=3}}
5=3 TR ={y|y=/=0]
1.6 = undeﬁned_ ) |:Df: {x|x<= 0}j|
U R={yly<=0}

Ans6=(R,={y|-29<y<=7})
X [Page = 0022] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKKXXKKKKXKXKXKKK XK EXKXKKK KKK KKK KK KXKKXKK KKK KX XKK KKK KKK K KKK KXKXKK KKK KXKXKK KK KKKKXK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XKXXXXXXXXXXXXXXME /2-6800401-00023XX
FunctionOl Answers for No.13655

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"

.4 ="NOT a Function"

e _[.1 =1 (-5,3), (-4, 10%1/2)), (-2, 2%351/2) ), (0, 147(1/2) ), (4, 3%2%1/2) ), (5, 19A(1/2))}}
e 2={(-5,145),(-4,91),(-2,19),(0,-5),(4,91),(5,145)]

1_{1)],: {x|x=/=l}}
g | R={yly=/=0}
.2 = undefined :[Df: (x|x>=1;
3=1 .1 ="a Function" ' R={yly>=0}

Ans3 = 4=5 o Ansd= [2 ="a Function"}’ , Ansd = ; [Df: {x|x>= 0}}
5=5 T R={yly<=0}

L .6=0 [Df: Set of all Real number}

L R={yly<=3)

Ans6=(R,;={y|-12<=y<37})
X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXKXKKXKXXXKKXKXXKXKXKXKKX KKK KKK KX XXX KK LXK XXX KKK KKK KKK KKK KKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXXX XXX KXXX XXX XXXXXXXXXXXME /2-6800401-00024XX
FunctionOl Answers for No.13667

.1 ="a Function"
2 ="NOT a Function"

Ansl = .3 ="NOT a Function"
.4 ="a Function"

Ans2_[.]z{(—5,6A(1/2)),(—4,7A(]/2)),(-],IOA(1/2)),(0,IIA(I/Z)),(4,15A(1/2)),(5,4)}_
B 2={(-5,119),(-4,74),(-1,-1),(0,-6),(4,74),(5,119)} ]
i {Df: Set of all Real number}_

1=1 R={yly>=1}

2=-1 :{Df:{x|x=/=—]}

3=-1 .1 ="a Function" . R={yly=/=0}

Ans3 = A4=-1 | AnM_[Z:"aFunction"}’ , AnsS = ; D={x|x>=2]}

S=11 T R={yly>=0/

|.6=8+2h] |:I)f:{x|x<:0}j|

LR={yly<=0)

Ans6=(R,={y|-7<=y<74})
X [Page = 0024] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKXKKXKXKXKKK XK EXKXKKK XK KKXKX KKK KKXKK KKK KX KKK KKK KKXKX KKK KKXKK KKK KXKXKKKKXKKKXX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXX XXX XXKXKX XXX XX XXX KX KKK XXKKKKKMSE /2-6800401-00025XX
FunctionOl Answers for No.13734
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function

.4 ="NOT a Function"

) 2_[ A={(-5,53),(4,35),(-1,5),(0,3),(1,5),(5,53)} }
T 2=0(-5,6M12)), (-4, 71/2) ), (-1, 10%1/2)), (0, 1IN1/2)), (1, 2%351/2) ), (5, 4) }

1_{Df:{x|x>=3}}
o - R={yly <=0}
2=-4 .ZZ{I;fz{xIF//LOJ}}
Ans3 = 4 ='fm_d;]1‘ined ’ > Ansd = [2 ;1"_N(?TF21117?11121‘3i0n"}’ , Ansy = I;f:{{);“); <= 0}}
S=-7 32{R},z{x|x>=0}}
L.6 = undefined | ~ {D = Set of all Real number}
- R={yly<=1}

Ans6=(R,={y|-56 <y <=8})
SN REERE PRI 0:010:0:0:0:0:0/0:0:010:00:0:0:0:0:0.0.0.0.:0:0.0:0:0.0.0:0.0.0.0.0.0.0.0.0.0.0:0.0:0.0.0.0.0.0:0:0.0:0.0.:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0.0:0.0.0.0.0.0.0.0.0:0.0:0.0:0.0.0.0.0:0'0:0:0:0. 0.0



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXXX XXX KX XKXXX XXX XXXXXXXXME /2-6800401-00026XX
FunctionOl Answers for No.13962

.1 ="NOT a Function"
.2 ="a Function"
.3 ="NOT a Function"
.4 ="a Function"
Ans2:[ d={(-4,78),(-3,43),(0,-2),(3,43),(4,78),(5,123)} }
2={(-4,1IN1/2)), (-3, 2%3N1/2) ), (0, 15%1/2) ), (3, 3%2N1/2) ), (4, 19)1/2) ), (5, 2*571/2) ) }

[ [sz Set of all Real number}_

Ansl =

=4 R={yly<=3}
.2 = undefined :[Df: {x|x>=2}
3=5 .1 ="a Function" ' R={yly>=0}
Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , AnsS = ; [Df: {x|x=/=-2 }}
5= LR=tyly =0
L.6 = undefined

.4:[sz {x|x<=0}}
R={yly<=0}
Ans6=(R,={y|-53<y<=11})

)G BT ISHE RNV D 9:9:9.9:9.0.0.9.0.9.0.9.9.0.0:0:0:0:0:0:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.9.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:9.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.9.0.9.90.0.0.0.0.9.0.0.9.0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX X XXX XXX XXXXXXXXME /2-6800401-00027XX
FunctionOl Answers for No.14470

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"

.4 ="NOT a Function"

Ansl =

AI’lS2—|: A={(-5,53),(-4,35),(-1,5),(0,3),(1,5),(5,53)} }
CL2={(-5,.6"1/2)),(-4,7N1/2)), (-1,10N1/2)), (0, 11N1/2)),(1,2%31/2)),(5,4)}
i {Df: Set of all Real number}_

[ =4 ] L R={yly>=-2}
2=-4 2:{Df={x|X>:0f

3=4 .1 ="a Function" . R={yly<=0}

Ans3 = 4 = undefined| AnM_[Z:"NOTaFunction”}’ , Ansd = ; D,={x|x=/=-3}
S=-4 T R={yly=/=0}

L.6 = undefined | D={x|x>=-2)

.4:{ = }

R={yly>=0}

Ans6=(R,={y|-56 <y <=8})
SN REERE P NAID'6:00:00:0:0:0/0:0:0:0:010:0:0:0:0:0.0.:0.0.:0:0.0:0:0.0.0:0.0.0.0.0.0.0.0.0.0.0:0.0:0.0.0.0.0.0:0:0.0:0.0.:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0:0:0'0:0.0.0.0.0.0:0.0.0:0.0:0.0:0.0.0.0.0.0'0:0.0:0. 0.0



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX X XXX XXX KKK XXX XXX XXXXXXXXME /2-6800401-00028XX
FunctionOl Answers for No.1l4561

.1 ="NOT a Function"
Ans] — .2 ="a Function"
=1 3= "NOT a Function"
.4 ="a Function"

p 2_[.1 =/ (-2, 11N1/2) ), (-1, 2%3%1/2) ), (0, 13%1/2) ), (1, 14%1/2) ), (2, 15%1/2) ), (3, 4)}}
e = 2=4(-2,17),(-1,2),(0,-3),(1,2),(2,17),(3,42)}

; {sz {x|x>= -z}}

1=-5 Rf:{J’|y<=0}

2=-4 :{sz{“pzof

3=-3 .1 ="a Function" ’ R={x|x>=0}

Ans3 = 4=3 0 AnM_[Z:"a Function"}’ , AnsS = ; {Df: [x|x =/=3}}
-7 TR =ty 1y ==0)

L.6=-2h] {D. = Set of all Real number}
R={yly<=-3}

Ans6=(R,={y|-53<y<=11})
X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXKXKKXKXXXKKXKXXKXKXKXKKX KKK KKK KX XXX KK XXX XXX KKK XXX KKK KKK KKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXX XXX XXKXKX XXX XX XXX KX KKK XXKKKKKMSE /2-6800401-00029XX
FunctionOl Answers for No.14657
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function

.4 ="NOT a Function"

d=4(-5,101/2)), (-4, 11N1/2)), (0, 1571/2) ), (1,4), (4, 19%1/2)), (5, 2*5A(1/2))}}

Ans2=[ 2={(-5,155),(-4,101),(0,5),(1,11),(4,101),(5,155)}

[sz Set of all Real number}_
[ 1=0] L R={yly>=1}
2=0 P Df:{X|X>:2}
3=23 1 ="NOT a Function" R={yly>=0}
Ans3 = 4=4 7 ’ Ans4:{ .2 ="a Function" }’ , Ansd = 3 {Df:{x|x>=0}}
I =8 TR ={yly<=0}
L.6=2h , [Df:{x|x=/=-3}}
L LR={yly =m0

Ans6=(R,={y|-10<=y<39})
SN REYERE PRI 6:00:0:0:0:0:0/0:0:0.10:0.0:0:0:0:0:0.0.:0.0.:0:0:0:0:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0:0.0:0.0.:0.0.0.0.0:0:0.0.0:0.0.0.0.0.0.0.0:0:0'0:0.0.0.0.0.0:0.0.0:0.0:0.0:0.0.0.0.0:0'0:0.0:0. 0.0



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX XXXX XXX XXXXXXXXME /2-6800401-00030XX
FunctionOl Answers for No.1l4661

.1 ="a Function"
2 ="NOT a Function"

Ansl = .3 ="NOT a Function"

.4 ="a Function"

2 d={(-5,97),(-3,33),(0,-3),(1,1),(3,33),(5,97)}
T 2= 1(-5,6M1/2)), (-3, 2%271/2) ), (0, 1IN1/2) ), (1, 2%351/2) ), (3, 147(1/2)), (5,4 ) }]

[sz Set of all Real number}_
B 1=-10 ] Rj:{y|y<=-3}
2=26 2_[Df:{x|x=/=1}
3=-6 .1 ="a Function" o R={yly=/=0}
Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , Ans5 = D={x[x>=0}
S=-8 B Rf‘:{y|y<=0}
1.6 = undeﬁned_ [Df: {X | x>=1 }}
LR={yly>=0]

Ans6=(R,;={y|-13<=y<68})
SN REYERE IR 0:00:0:0:0:0:0/0:0:010:0:0:0:0:0:0:0.0.:0.0.0:0:0:0:0.0.0:0.0.0.0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0:0:0.0:0.0.:0.0.0.0.0:0:0.0.0:0.0.0.0.0.0.0.0:0:0'0:0.0.0.0.0.0:0.0.0.0.0:0.0:0.0.0.0.0:0'0:0:0:0. 0.0



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX X XXX XXX KXXX XXX XXX XXXXXXXXME /2-6800401-00031XX
FunctionOl Answers for No.l1l4674

.1 ="a Function"

2 ="NOT a Function"
.3 ="a Function"

.4 ="NOT a Function"

e _[.1 =/ (-5, 10N1/2) ), (-2, 13%1/2)), (0, 15%1/2) ), (2, 1751/2) ), (4, 1951/2) ), (5, 2*5A(1/2))}}
nse= 2={(-5,55),(-2,13),(0,5),(2,13),(4,37),(5,55)}

i y :{sz {x|x=/= -3}}

Ansl =|"

.]:_9 Rf:{ylyz/zo}
.2 = undefined :{Df: {x|x>=1}
3=-4 .1 ="a Function" ' R={yly<=0}
Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , Ans5 =

5=-7 3
L.6 = undefined

[Df: {x|x<= 0}}
R={x[x>=0}

D, = Set of all Real number
{ R={yly>=-2} }

Ans6=(R,={y|-7<=y<74})

)G BT ISHERNIUCH R I 9:9:9.0:9.0.0.0.0.9.9.9.9.9.0:0:0:0:0:0:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:9.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0:0.0.0.9.0.0.90.0.0.0.0.9.0.0.9.0.0.0:4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXXKXKXXXKX XXX XX XXX KX KKK XXKKKKKMSE /2-6800401-00032XX
Function0Ol Answers for No.14676
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function

.4 ="NOT a Function"

) 2_[ d={(-5,155),(-2,29),(-1,11),(0,5),(1,11),(2,29))} }
M 2= (-5, 771/2)), (-2, 1071/2) ), (-1, 11N1/2) ), (0, 2%3751/2) ), (1, 13%1/2) ), (2, 14%(1/2) ) }

, {Df:{x|x>=2}}
- 10T R={yly>=0}
6 5o D={x[x>=0}
3=4 1 ="a Function" - R={yly<=0}
Ans3 = 4=1 7 ’ AnM:[Z:"aFunction"}’ , AnsS = Df: {x|x=/=1}
S=1 R={yly=/=0]
L.6=0 ] {Df:Set of all Real number}
T R={yl|ly>=-1}

Ans6=(R,={y|-57<y<=7})
X [Page = 0032] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKKXXKKXKXKXKXKKK XK EXKXKKK XK KKXKX KKK KKXKK KKK KX KKK KKK KKK K KKK KXKKK KKK KXKXKKKKXKKKXK
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FunctionOl Answers for No.14694

.1 ="NOT a Function"
.2 ="a Function"
.3 ="NOT a Function"
.4 ="a Function"
Ans2:[ d={(-5,119),(-3,39),(-1,-1),(0,-6),(1,-1),(3,39)) }
2={(-5,7%1/2) ), (-3,3), (-1, 1IN1/2)), (0,2%3~1/2) ), (1,13~1/2)), (3, 1571/2))}

Ansl =

I [sz Set of all Real number}_
C 20 ' R={yly<=3}
2=0 :{Df:{x|X>:0}}
S B SRS v SR N A
5=7 'SZ{Rf={y|y>=0}}
.6=13+h. _[Df:{x|x=/=3}}
i CR={yly=/=0}

Ans6=(R,;={y|-51<y<=13})

)G BT ISHEBNIUCICH I 9:9:9.9:9.0.0.0.0.9.9.9.9:9:0:0:0:9:0:9:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0:0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.9.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0.9.9.0.9.0.0.0.4
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Function0Ol Answers for No.14705
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function

.4 ="NOT a Function"

) 2_[ d=4(-5,79),(-3,31),(-1,7),(0,4),(1,7),(3,31)} }
M 2= 0(-5,6M12)), (-3, 2%271/2) ), (-1, 10%1/2) ), (0, 1IN1/2) ), (1, 2*351/2) ), (3, 14~(1/2) ) }

1_{Df={x|x>=-]}}

_.]:_14_ ‘ Rj: {y |y>=0}

2--8 2:[Df:{x|X<:0}

3=-5 .1 ="a Function" ' R={yly<=0}

Ans3 = 4=-5[ AnM_[Z:"aFunction"}’ , AnsS = ; [Df: {x|x=/=3}}

5= I\ R=ty 1y -0
L.6=—h] [Df: Set of all Real number}

L R={yly>=1}

Ans6=(R,={y|-71<y<=10})
X [Page = 0034] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXKXKKXKXXXKKXKXXKXKXKXKKX KKK KK KXKX XXX KK XXX KKK KKK KKX KKK KKK KKKKX
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FunctionOl Answers for No.14715

.1 ="NOT a Function"

.2 ="a Function"
Ansl = .3 ="a Function"
.4 ="NOT a Function"
AnS2__.]:{(-4, IND/2)), (-2,3),(-1,10%1/2)), (0, 11N1/2)),(2,13%1/2)), (4, I5A(]/2))}}
L 2={(-4,50),(-2,14),(-1,5),(0,2),(2,14),(4,50)}

[ ; [sz Set of all Real number}_

[1=6] Tl R={yly<=-3}

'2:_5 2:[Df:{x|x>=0}

3=5 .1 ="NOT a Function" R ={yy <=0}

Ans3=\ b o A”“"[ .2 ="a Function" } , Ansd = L [Pt le=rm3y

S =11 TR ={yly=/~0])

L6=0 , [Df:{xlx>=2}}

U R={yly>=0]
Ans6=(R,;={y|-51<y<=13})
X [Page = 0035]
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FunctionOl Answers for No.14716

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"

.4 ="NOT a Function"

A={(-5,123),(-2,18),(-1,3),(0,-2),(1,3),(5,123)} }
2={(-5,10%172)), (-2,13%1/2)), (-1, 14~1/2)), (0,151/2)),(1,4),(5,2*5"1/2))}

[sz {x|x=/= 3}}

Ansl =

Ans2 :[

A=
A= R={yly=/=0}
.2 = undefined 2:[Df: {x|x<=0}
3=-3 .1 ="a Function" | R={x|x>=0}

Ans3 = 4=3 [ 7 Ans4—[2: "a Function"}’ , Ansd = ; D, = Set of all Real number
S 7L Re=fyly<=-3)
6=1-h

. i [Dj,:{x|x>:]}}
R ={y|y<=0}

Ans6=(R,={y|-69<y<=12})
X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXXXXXXXXKXKKXKXXXKKXKXXKXKXKXKKX KKK KKK KX XXX KK XXX KKK KKK KKK KKK KKK KKKKX
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FunctionOl Answers for No.14752
.1 ="a Function"
.2="NOT a Function"
Ans} = n b "
.3 ="a Function

.4 ="NOT a Function"

) 2_[ A={(-3,39),(-2,14),(0,-6),(2,14),(3,39),(4,74)) }
MET 22 0(-3,2%371/2) ), (-2, 1371/2) ), (0, 1551/2) ), (2, 1751/2) ), (3, 3*2N1/2) ), (4, 19°1/2) )}

1 {Df:{x|x>=l}}
[ I=-8 ] C O LR={yly<=0]
.2 = undefined 2:{Df: {x|x>=0}
3=1 .1 ="a Function" . R={x[x>=0}

Ans3 = 4=2 [ Ans4—[2 ="NOT aFunction”}’ , Ansd = {Df: Set of all Real number}

S=-2 B sz{yly>=-2}

L .6=0 | 4_{[)},:{x|x=/=—3}}
L R={yly=/=0}

Ans6=(R,={y|-73<y<=8})
X [Page = 0037] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXKXKKXKXXXKKXKXXKXKXKXKKX KKK KKK KX XXX KK X KKK KKK KX KKX KKK KKK KKKKX
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Function0Ol Answers for No.14775
.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4 ="NOT a Function"

) 2_[ d=4(-5,119),(4,74),(-1,-1),(0,-6),(1,-1),(4,74)} }
T 22005, 771/2) ), (-4, 2%271/2) ), (-1, 11N1/2) ), (0, 2%3751/2) ), (1, 13%1/2) ), (4, 4) }

Ansl =

" ]_[Df:{x|x=/=3}}
[ 1=4 © O R={yly=/=0}
.2 = undefined 5 [Df: Set of all Real number
3=-6 .1 ="a Function" o R={yly<=-2}
Ans3 = 4 =-8 ’ ’ Ansd = |:2 ="a Function"}’ ’ Ans3 = 3 [Df: {x | X >= 0}}
o= T R=tyly <=0}
L .6=0 _ [Dj,:{x|x>:]}}
O R={yly>=0}

Ans6=(R,;={y|-51<y<=13})
X [Page = 0038] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXKXKKXXXXKKXKXXKXKXKXKKX KKK KKK KX XXX KK XXX X KKKKKKKX KKK KKK KKKKX
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